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STATIC GENERAL KNOWLEDGE
- QUIZ -

1. In the Continental Drift Theory, Wegener suggested that the movement
responsible for the drifting of the continents was caused by pole-fleeing force and
tidal force. What is pole- fleeing force?

O The force created by centrifugal force from the Earth’s rotation and by the bulge at the
slightly flattened Earth’s equator.

O The force created by centripetal force from the Earth’s rotation and by the bulge at the
slightly flattened Earth’s equator.

O The force created by centrifugal force from the Earth’s rotation and attraction between Sun
& Earth.

O The force created by centrifugal force from the Earth’s rotation and attraction between
Moon & Earth.

2. Which of the following statement regarding protostar is correct?

O These are star which came into being by breaking of tonnes of matter out of the sun caused
by a passing star.

O These are hot and slowly moving magnetic field which leads to formation of star.

O These are clouds of dust and gas spiraled together by the force of gravity.

O These are star which came into being by breaking of planets.
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3. Mizoram is known as “Molasses basin”. What is it made up of?

O Soft Consolidated sediments that are cemented together.
O Soft Unconsolidated deposits of terrestrial or marine origin.
O Soft Consolidated sediments of terrestrial or marine origin.
O Soft Unconsolidated deposits that are cemented together.

4. In the context of agricultural revolution in India, which of the following
statements is/ are correct?

1. White revolution is associated with modernization of sheep and dairy farming.

2. Second green revolution is associated with development of horticulture.

3. Blue revolution is associated with improvement in the production of fish and marine
products.

O Only 1
O Only 3
O 2and 3
O1,2and 3

5. Which of the following statement is/are true?

1. Rotation of earth and its tilted axis is responsible for changes in season.
2. Cloudiness means more insolation for earth.
3. More the green house gases more will be the insolation.

O Only 1

O 2and 3

O 1land3

O None of the above



